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1107 

I
st
 YEAR ARTS EXAMINATION, 2018 

ECONOMICS  

Paper - II 

INDIAN ECONOMICS ENVIRONMENT 

Time: Three Hours 

Maximum Marks: 100 

 
 

        PART – A ¼[k.M & v½¼[k.M & v½¼[k.M & v½¼[k.M & v½      [Marks: 20] 

Answer all questions (50 words each). 

All questions carry equal marks. 

lHkh iz’u vfuok;Z gSaA izR;sd iz’u dk mŸkj 50 'kCnksa ls vf/kd u gksA  

lHkh iz’uksa ds vad leku gSaA 

         PART – B ¼[k.M & c½¼[k.M & c½¼[k.M & c½¼[k.M & c½      [Marks: 50] 

Answer five questions (250 words each). 

Selecting one from each unit. All questions carry equal marks. 

izR;sd bdkbZ ls ,d&,d,d&,d,d&,d,d&,d iz’u pqurs gq,] dqy ik¡p iz’u dhft,A 

izR;sd iz’u dk mŸkj 250 'kCnksa ls vf/kd u gksA 

lHkh iz’uksa ds vad leku gSaA 

           PART – C ¼[k.M & l½¼[k.M & l½¼[k.M & l½¼[k.M & l½      [Marks: 30] 

Answer any two questions (300 words each). 

All questions carry equal marks. 

    dksbZ nks iz’unks iz’unks iz’unks iz’u dhft,A izR;sd iz’u dk mŸkj 300 'kCnksa ls vf/kd u gksA 

lHkh iz’uksa ds vad leku gSaA 
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PART – A @ @ @ @ [k.M[k.M[k.M[k.M    & v& v& v& v 

Q.1 Write short notes on: 

 fuEu ij laf{kIr fVIi.kh fyf[k,% 

UNIT –I@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – I 

 (i) Changing sectoral composition of National Income in India. 

  “kjr dh jk"Vªh; vk; dh {ks=h; lajpuk esa ifjorZuA 

 (ii) Current status of Sex – Ratio in India.  

  “kjr esa fyaxkuqikr dh orZeku fLFkfrA 

UNIT –II    bdkbZ bdkbZ bdkbZ bdkbZ – II 

 (iii) Major Sources of Energy in India. 

  “kjr esa ÅtkZ ds izeq[k L=ksrA 

 (iv) Various Sources of Agriculture – Credit in India. 

  Hkkjr esa Ñf"k & lk[k ds izeq[k L=ksrA 

UNIT –III    bdkbZ bdkbZ bdkbZ bdkbZ – III 

 (v) Disguised Unemployment in India.  

  “kjr esa vn`’; ¼fNih½ csjkst+xkjhA 

 (vi) Liberalisation 

  mnkjhdj.k 

UNIT –IV    bdkbZ bdkbZ bdkbZ bdkbZ – IV 

 (vii) Direction of India’s Foreign Trade. 

  “kjr esa fons’kh O;kikj dh fn’kkA 

 (viii) Problem of Balance of Payment. 

  Hkqxrku & 'ks"k dh leL;kA 

UNIT –V    bdkbZ bdkbZ bdkbZ bdkbZ – V 

 (ix) Problem of Drought in Rajasthan. 

  jktLFkku esa lw[ks dh leL;k 

 (x) Two major Tribal Development Schemes in Rajasthan.  

  jktLFkku dh nks izeq[k tutkfr fodkl ;kstuk,aA 
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PART – B @ @ @ @ [k.M[k.M[k.M[k.M    & & & & cccc 

UNIT –I@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – I     

Q.2 What are the reasons behind increasing rural – urban migration in India? 

 “kjr esa c<+rs xkaoks ls 'kgjksa dh vksj iyk;u ds dkj.k crkb;sA 

Q.3 What are the causes of problem of over – population in India? 

 “kjr esa vfr & tula[;k ds dkj.k crkb;sA 

UNIT –II    bdkbZ bdkbZ bdkbZ bdkbZ – II 

Q.4 Write your opinion on causes of slow growth of Indian agriculture. 

 “kjrh; Ñf"k dh /kheh o`f) ds dkj.k ij viuh jk; crkb;sA 

Q.5 Explain the New Industrial Policy of India. 

 “kjr dh ubZ vkS|ksfxd & uhfr dh O;k[;k dhft,A 

UNIT –III    bdkbZ bdkbZ bdkbZ bdkbZ – III 

Q.6 What are the causes of Poverty in India?  

 “kjr esa xjhch ds dkj.k crkbZ;sA 

Q.7 To what extent have the five year plans succeeded in accelerating the pace of growth 

of the Indian Economy? 

 iapo"khZ; ;kstuk,a fdl lhek rd Hkkjr esa vkfFkZd o`f) dks c<+kus esa lQy jgh gSa\ 

UNIT –IV    bdkbZ bdkbZ bdkbZ bdkbZ – IV 

Q.8 Analyse the New EXIM Policy of India.  

 “kjr dh ubZ vk;kr & fu;kZr dh foospuk dhft,A 

Q.9 What is the role of Foreign Trade in India’s economic growth? 

 “kjr dh vkfFkZd & o`f) esa fons’kh & O;kikj dh D;k Hkwfedk gSa\ 

UNIT –V    bdkbZ bdkbZ bdkbZ bdkbZ – V 

Q.10 Highlight the position of Rajasthan in Indian Economy. 

 “kjrh; vFkZO;oLFkk eas jktLFkku dh fLFkfr ij izdk’k Mkfy;sA 

Q.11 How is the Tourism contributing in the economy of Rajasthan?  

 i;ZVu fd; izdkj jktLFkku dh vFkZO;oL;k esa ;ksxnku dj jgk gSa\ 
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PART – C @ @ @ @ [k.M[k.M[k.M[k.M& & & & llll    

UNIT –I@ @ @ @ bbbbdkbZ dkbZ dkbZ dkbZ – I     

Q.12 Analyse the various policy measures taken to control the problem of over population 

in India.  

 “kjr esa vfr & tula[;k dh leL;k dks nwj djus gsrq fd;s x;s fofHké uhfrxr mik;ksa dh ppkZ 

dhft,A 

UNIT –II    bdkbZ bdkbZ bdkbZ bdkbZ – II 

Q.13 What are the problems of Small Scale Industries and give measures to solve them?    

 “kjr esa y?kq m|ksxksa dh D;k leL;k, gS\ ,oa mUgs nwj djus ds mik; crkb;sA 

UNIT –III    bdkbZ bdkbZ bdkbZ bdkbZ – III 

Q.14 Give the details of measures taken for Privatization and Globalization in India.    

 “kjr esa futhdj.k ,oa oS’ohdj.k gsrq fd;s x, mik;ksa dh foLr`r foospuk dhft,A 

UNIT –IV    bdkbZ bdkbZ bdkbZ bdkbZ – IV 

Q.15 Critically analyze the increasing interference of MNC’s in India. 

 “kjr esa cgqjk"Vªh; dEifu;ksa ds c<+rs gLr{ksi dh vkykspukRed O;k[;k dhft,A 

UNIT –V    bdkbZ bdkbZ bdkbZ bdkbZ – V 

Q.16 Describe the challenges of agriculture in Rajasthan. 

 jktLFkku esa Ñf"k ds lEeq[k pqukSfr;ksa dh foospuk dhft,A 

 

----------------------------------------- 

 


